Get out your homework and have it ready to check.

Classwork - Surface Area of Cylinders

Name each net and find the surface area of the following nets. SHOW WORK AND LABEL.
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4) HINT = You have to use the Pythagorean Theorem to the find the height of the triangles.
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@ rosrvoration

Bakery The Shiny Bright bakery is making a cake for Maria's

quinceanera. The cake will be in the shape of a cylinder with a height

of 4 inches and a diameter of 14 inches,

1

What are the shapes that make up the
net of the cake? Sketch the net in the
space provided.

How is the length of the rectangle related to the circles
that form the top and bottom of the cake?

Find the area of each part of the cake. Round to the nearest
whole numbser.

Top: inf  Bottom: in? Side: ind

4. Add the values from Exercise 3. What is the total

surface area of the cake? in?



» Surface Area of a Cylinder

Lateral Area

Words The lateral area L.A. of a cylinder with height h and radius ris
the circumference of the base times the height.

Symbeols LA =27rh

Total Surface Area

Words The surface area 5.A. of a cylinder with helght h and radius r
is the lateral area plus the area of the two circular bases.

Symbols SA =LA + 2nrfor SA. = 21rh + 27r?

Model

area of base = *m"



You can find the surface area of a cylinder using a net.
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makes up the
L curved surface.

In the diagram above, the length of the rectangle is the same as the
circumference of the circle, 2wr. Also, the width of the rectangle is the
same as the height of the cylinder.

The lateral area of a three-dimensional figure is the surface area of the
figure, excluding the area of the base(s). S0, the lateral area of a cylinder
is the area of curved surface.

The total surface area of a three-dimensional figure is the sum of the
areas of all its surfaces.



Example E]

1. Find the surface area of the cylinder. 2m

Round to the nearest tenth. e
SA. = 27rh + 27 Surface area of a cylinder ! Tm

SA. = 2m(2)(7) + 27(2)2 Replace r with 2 and h with 7.
SA. = 1131 sty SK=KT §Lea Se

The surface area is about 113.1 square meters.
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Got i+7 Do these problems to find out.

C Firﬁe surface area of each cylinder. Round to the nearest tenth.
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2. Acircular fence that is 2 feet high is to be built around the outside
of a carousel. The distance from the center of the carousel to the
edge of the fence will be 35 feet. What is the area of the fencing
material that is needed to make the fence around the carousel?

You need to find the lateral area. The radius of the circular fence
is 35 feet. The height is 2 feet.

LA, = 27rh Lateral area of a cylinder
L.A. = 2m(35)(2) Replace rwith 35 and h with 2. Q
LA = 4398 Simplify.

S0, about 439.8 square feet of material is needed to maksk
the fence.



- Got i+7 Do these problems to find out.

c. Find the area of the label of a can of tuna with a radius of
L- 5.1 centimeters and a height of 2.9 centimeters. Round to
the nearest tenth.

d. Find the total surface area of a cylindrical candle with a
diameter of 4 inches and a height of 2.5 inches. Round to the
nearest tenth.




